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9.9 Burglar Alarm project - Resistor Colour Code

Resistance is measured in ohms (?)
Four colour bands on the resistor show the value of the
RESISTOR COLOUR CODE resistance provideq. The first three bands give the value (or
number) of the resistor. The fourth band gives you the
Colour value || ffolerance and is either silver or gold (silver £10%, gold +5%)
Black I O
Brown O 1 1t nlumber 2 pymber MNumber of 0s Toletance
Red D
Orange Ol 3
Yellow 1 4
Green B ¢ |
Blue B G Brown =1 Black =10 Brown= 1 zern= 10052
Violet s T
Grey s O
White C— 1 9
I
Brown=1 Green= 5 Orange = 3 zeros = 1500052

Work out the resistance (in Ohms ?) of the following resistors. Disregard the tolerance band (gold or
silver band)

*
—
Blue = Violet= Red= Teros = G2 [ | White = Orange = Brown = ZErO§ = n
Fy
Red= Creen = Browt = Zeros = ] Blue = Yellow = Oratge = ZEIOS = k]
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